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As seen in figure, varying horizontal force F is pushing the object very slowly from  = 0 

to andin a swing, it remains in equilibrium through the process.( velocity is negligible) 
  

a)    Calculate F as a function of angle 

b)    What is the total work done by the  force F 

c)    What is the total work done by the  gravitational force  (mg)  

d)    What is the total work done by the  tension T in the rope 
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As seen in figure, varying horizontal force F is pushing the object very slowly from  = 0 to and it 
remains in equilibrium through the process.. ( velocity is negligible) 
  

a)    Calculate F as a function of angle 

b)    What is the total work done by the  force F 

c)    What is the total work done by the  gravitational force  (mg)  

d)    What is the total work done by the normal force N  
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 As seen in figure, varying horizontal force F is pushing the object very slowly from  = 0 to and 
it remains in equilibrium through the process.( velocity is negligible). 
  

a)    Calculate F as a function of angle 

b)    What is the total work done by the force F 

c)    What is the total work done by the  gravitational force  (mg)  

d)    What is the total work done by the  normal force N 

 

 

 

 

 

 

 

 

 

 

 

 


